N = 0l & At & Ml A

20149 20 & LB JIEISESIH A2
BN AQS
M A3 AHEZEH|
Felr FUXNXME W29 2 BEoYAE X (=& J)
(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
A2RS 314,314 261,560 52,754
A2R3 At EH| 244,100 192,590 51,510
FOXXME Wa2d 2 BHYAE X3 176,840 125,330 51,510
FOUXXHH 29 61,200 58,200 3,000
201 Let24dy] 61,200 58,200 3,000
01 At 2teltl 55,000 52,000 3,000
OF2UXXHMEH2Z 55,000, 000& 55,000
02 3322l 6,200 6,200 0
OUEFQANIME SUAALANAY 8HB
2,200,000& 2,200
OFQXXIMEH AMESX 2l (402)
4,000,000 4,000
FOEOAL XA 28,140 64,630 A 36,490
201 £B-2dH| 26,200 40,200 214,000
02 3323l 26,200 26,200 0
OSFUMERABYAABSA R
2,200,000& 2,200
OXrg s Xlgl(2th) 9,500,000 9,500
O&E AKX 2l 2,000,000 2,000
OF}EZEHAHE 500,000 500
O(a2,s0, 05 )=X5 & 12,000,000 12,000
203 YR =] 1,940 2,430 A 490
03 AIMFA AR FAY| 1,940 2,430 A 490
OSTARAHFA 1,940,000& 1,940
A2EsFUHEH 32 = 85,000 0 85,000
401 Al Bl 28I 85,000 0 85,000
01 A& HI 85,000 0 85,000
AQEFOME SoM B5 FLIA
85,000,000 85,000
HEUEE UE=0 AL 29 2,500 2,500 0
201 Let24d] 2,500 2,500 0
03 A2 E HI 2,500 2,500 0
Ofl£=0 dAtAHI 2,500,000& 2,500
ScltEas=Ey 62,260 62,260 0
ScClBEEs24 NS 62,260 62,260 0
301 et a3 62,260 62,260 0
05 S& -0 -2 62,260 62,260 0
OF=FSEt=y 200,000& x17H x12& 40,800
Osddd= 200,000& *17H »23| 6,800




BAH: ARS
HM: AQES AFY
ool SelNEESSY (B9 ®R)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
Os&Ag&dNY 20,000& *17H »12& 23] 8,160
Oeta g st 50,0003 130 * 13l 6,500
AZMUE X 5,000 5,000 0
A2 MU ALK 5,000 5,000 0
307 QI2t0| ™ 5,000 5,000 0
04 AI2tHAIE X = 5,000 5,000 0
oo,z ZMsU3 5,000,000& 5,000
HEHSHAH (ARSE) 70,214 68,970 1,244
PIERSIH(ARSE) 23,254 22,190 1,064
ANEHOAHH(ARS) 23,254 22,190 1,064
101 @121l 23,254 22,190 1,064
03 2IAHAZZXHE = 23,254 22,190 1,064
OFAI 22| LER LY 23,254
PAR=E=] 862,400& x1H x12& 10,349
-0 2 862,400 x1H x4 & 3,450
-Al2t2l =< 7,350 *1H x22A| 2t x12& 1,941
-5U22x 58,8003 x1H 22 x12& 1,412
=524 39,2003 14«52 2,039
RSP~ Ea = 39,200& x1H 16 628
-8 M ZAY| 80,0003 1128 960
- S 2 XH| 60,0003 *x1H x12& 720
s 60,000& x1H x12& 720
-8 &30yl 862,400& x60%*23] 1,035
Jl2dbl(Aes) 46,960 46,780 180
J2dH(ARS) 46,960 46,780 180
201 LEt2 Y| 22,000 20,000 2,000
01 AP 2t2l bl 9,000 8,000 1,000
OBMA2Y AIR22HI(ZE) 9,000,000& 9,000
02 3524l 13,000 12,000 1,000
oO&IIea 8,000,000 8,000
O&dte=22 1,000,000 1,000
oRE2 4,000,000& 4,000
202 04| 16,960 17,160 A 200
01 2LHOHI 16,960 17,160 AN 200
oA=& Y| 1,600,000 1,600
OJlege4saingl (8Y) 15,360,000& 15,360
203 ¥R =&H| 8,000 9,620 A 1,620
01 J|22g9 P R=&Y| 5,280 6,600 A 1,320
OJ#2d =8| 5,280,000 5,280
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